REES FEILEEEE AEEMTBEKEMHERMERE
AL BE FH4FETA13E (K) 1085005 ~
AFLISFR RRETIT7 A EBEHH

AfLRRAE (RAEFHEZEALTNX) EWEHEROAR

i =]

S EOEBREUHED REFEEERNEOEBRRUES REZiEH
e e alipl
REH P - BEE A RS &% (5t x 0.6)

R % FHHES =5 5
EBRUT EE e @R Uy | FEEER
FEEHE|BIEEE | thETOX |FEEHO | L,s0 |WELTTH e | RHEOR RREEFE | B TOE |RELEHD a8 HlnZ= Lt
& BOEE | BEE % REEE & 5 BER A&

Bos| 25000 & 20000 &| 5.000 M |(-2~-1 &) 20.000 | 5000 =| 20.000 = 5.000 & = - 100.000 5| 60.000 &=
BRYZ—FT49Y 0.000 = 0.000 = 0.000 = 0.000 | 20.000 s 0.000 = 0.000 = 0.000 = St b 20.000 | 12.000 =
T 25000 & 2.000 & 0000 s%| 0000 s5| 20.000 | 0.000 | 20.000 & 1.000 = i1} bt 68.000 s5| 40.800 =
HEFERBHERR 25.000 = 13.000 B 0.000 = 0.000 | 20.000 s 5.000 5| 20.000 5= 2500 = St b 85.500 ;| 51.300 =
BN — R ER B HA 25.000 & 10.000 &5 0.000 & 0.000 | 20.000 = 0.000 | 20.000 = 2.500 & i1} bt 77.500 s| 46.500 =
HWTFSEERFEHEMR 25.000 & 18.000 & 0.000 & 0.000 & | 20.000 = 0.000 & | 20.000 = 2.700 & St S| 85.700 f| 51.420 =
(R k= 25.000 & 7.000 & 0.000 & 0.000 | 20.000 = 0.000 | 20.000 = 1.700 = i1} bt} 73.700 | 44.220 =
WL FATYRYNTAT—FTIY | 25000 5 17.000 B 0.000 = 0.000 | 20.000 s 0.000 | 20.000 s 4.200 = St b 86.200 /| 51.720 =




